Relationship brightnessB* 1 and luminanceLt as function
of tristimulus value Yt for the adaptation luminanceL ;=200 cd/m?

Relationship brightnessB*  and luminanceLt as function
of tristimulus value Yt for the adaptation luminancel 5= 200cd/m?

B (LT, La §) = Cr($)LT — Ba(La ) brightnessB*,

BalLa ) = Cr(9)[So(d) + S1(®)La] (n=0,31) 2]
Lie(La §) = [So(0) + Sy@)LA " (t=black threshold)  [3]
I-T ¢ CT(¢) AL B*/B*u Ba('—a:‘b) B*LT LL& La“—i
10,55 120’ 22,969 0,210 3,00P 30,71 131,98 255 2
6,60 120" 22,969 0,152 2,50 31,54 109,99 2,55 2%
3,81 120' 22,969 0,104 2,00D 33,11 87,99 2,55 23
1,97 120' 22,969 0,066 1,50 36,07 65,99 255 23
0,85 120" 22,969 0,037 1,00U 47,94 43,99 2,55 23
0,27 120’ 22,969 0,017 0,50 57,02 21,99 255 23
2,55 120" 22,969 0,054 0,00N 71,70 0,00 255 22
0,85 120" 22,969 0,037 1,00U 47,94 43,99 2,55 23

[1

Bir(L1, La ) = S(O)LT — dkalLas ) brightnessB1 1 [1]

Ba(La §) = CT(@)[So(d) + Su(9) L3 (n=0,31) 12]
Sd®)=Cr(®) [B]  dea9) =Ba(la ¢) [4] (s=scaling factor)
Lt ¢ Cr(®) AL BYB*y Balad) By s(9) dea(6)
10,55 120' 22,969 0,210 3,00P 30,71 131,98 255 2
6,60 120° 22,969 0,152 2,50 31,54 109,99 255 23
381 120' 22,969 0,104 200D 3311 87,99 255 23
1,97 120° 22,969 0,066 1,50 36,07 6599 2,55 23,
085 120' 22,969 0,037 1,00U 47,94 4399 255 23
027 120° 22,969 0017 050 57,02 21,99 255 23,
2,55 120' 22,969 0054 0,00N 7170 000 255 22
085 120° 22,969 0,037 1,00U 47,94 4399 255 23

hes9l-1a =2, L=300,L;=200,$=120,

Nes9l-2a =2, L=300,L ;=200,$=120’,

Relationship brightnessB*,; and luminanceLt as function
of tristimulus value Y7 for the adaptation luminancel ;=200 cd/m?

Relationship brightnessB*,; and luminanceLy as function
of tristimulus value Y+ for the adaptation IumlnanceLa—ZOOCd/m

BY (Lt LrLr0) = [Cr@)LT - B(Lr, $)]B*a brightnessB*

Br(Lr, 9) = CT(¢)[SO(¢)+51(¢1)/L] (n=0,31,B%,=B" 1 /BY1 )

Lyt(La ) = [So(@) + Su(d)L7] (t=black threshold)  [3]
Y1 ¢ CT(¢) Ay B*/B*u Br('—r:¢) B*YT Lyt La/Ll
10,55 120’ 22,969 0,210 3,00P 30,71 131,98 255 2
6,60 120 22,969 0,152 2,50 31,54 109,99 255 27
3,81 120" 22,969 0,104 2,000 33,11 87,99 2,55 22
1,97 120" 22,969 0,066 1,50 36,07 65,99 2,55 23
0,85 120" 22,969 0,037 1,00U 47,94 43,99 2,55 22
0,27 120" 22,969 0,017 0,50 57,02 21,99 2,55 27
2,55 120" 22,969 0,054 0,00N 71,70 0,00 255 22
0,85 120’ 22,969 0,037 1,00U 47,94 43,99 255 24

[1
[2]

BYr(LT, L, ) = Sra(@)LT — dyra(d) brlghmeSSB*YT [
Br(Lr, 0) = Cr(9)[So(d) + Sud)LiT (1=0,31,B%,=BY 1, /Bi 1) [2]

LTr
Syra(®)=Cr (9)B%a [3] dyra(9)=Br(Lr, $)B%a [4] (s=scaling factor)

YT ¢ CT(¢) AY B*/B*u Bv('—h“’) B*y'r Syra(¢) dyra(¢)
10,55 120’ 22,969 0,210 3,00P 30,71 13198 255 2
6,60 120" 22,969 0,152 2,50 31,54 109,99 255 23]
3,81 120" 22,969 0,104 2,00D 33,11 87,99 255 22,
1,97 120' 22,969 0,066 1,50 36,07 6599 2,55 23,
0,85 120’ 22,969 0,037 1,00U 47,94 43,99 255 22,
0,27 120" 22,969 0,017 0,50 57,02 21,99 255 23
2,55 120" 22,969 0,054 0,00N 71,70 0,00 2,55 22,
0,85 120" 22,969 0,037 1,00U 47,94 43,99 2,55 23,

hes91-3a j=2, L,=300,L4=200,0=120",

hes91-4a  j=2, L,=300,L,=200,=120",

hes00-3R R,



